At m ARG K
% 106-008 & 106 & 8 7
77 L AR Rl
A 105# 57~ A#i 14689245 Lg A= &% 61295

Ao iEdpiEd g tlinaest o BB (RE) P Tl EALC K35 &
fe m = RFIR e

— v AT B R 105 E EEEES A #4877 A (4 28.87%) 0 T&
10 4 = < d? HF 3 4 LFEHERH

A7 F X105 & B A #54,877 4 (F 28.87%) & 10
Az Aded NG 3AEFIEMRGSC cRKFEAEGCHER (3
ﬂ_firiﬁi),%“f ) 1,732 4 (¢ 10.25% ) ~ "o ?fi)]% 1,101 *~ (¢
6.52% )~ " % 1,072 ~ (4 6.35%) ~ W Fm 1,047 4 (¢ 6.20%) ~
FecipE 802 4 (4 475% )R vi'&{g’:fif),% 692 4 (¢ 4.10%) ~
% BILAE 668 4 (b 3.95%) T~ B iz A Top % 535
A(d 317%) - 'rﬁ'rﬂ*:}?ﬁi SRR Y 492 4 (F 291%) - (34 1)

21497 31058145702 BT
Hix:1 450, 4~/
= Al EFlmAcv

ul;.“ff_»_ v = ),%,ﬂ v = (:ag:

‘%—-f#_ pL v = _‘%
w04 = R F 16,892 100.00 612.95
[ 1 & 16 4,877 28.87 176.97 |

2 SHER R (B RIA RS ) 1,732 10.25 62.85
3 TS 1,101 6.52 39.95
4 g 1,072 6.35 38.90
5 ¥ 1,047 6.20 37.99
6 TS 802 4.75 29.10
7 BT o B R 692 4.10 25.11
8 B RIEA R 668 3.95 24.24
9 U T REGHE TR 535 3.17 19.41
10 MWdsFg 2 0RA 1 492 2.91 17.85

# 3,874 22.93 140.57

FHR KR L AR
30 (D1054 & ¢ 4 ¢ #3+2,755,842 4
@Fw 7 » Rk mlcr B Ai 5T

AT ATE T B A BR £ 5 4 105 & 4,877 4 & 104

1



& 4,833 X H4c 44 £ (0.91%) 5 # 95 &

~ g3 4 1,138 4 (30.44%) ;

M s 105 & BREEE L E A T A= 5 17697 4 0
104 4 # 4 0.08 4 » 7 fi 10 4 % ~ 154 4c 31.88 £ o (;LF 1)
Wl 477 78E BRAEH™ R
Eags = A (1) —e—EiiEr - (515
A AL A
6,000 - 300
5,000
4,000 171.28 174.82 176.89 176.97| 200
145G9 16176 148054 153.62 154.76 161.61 161.14
3,000 M.
4,833 4,877
2,000 3,739 - 100
1,000
0 0
95 & 96-# 97 & 98 & 99# 100# 101+ 102# 103&# 104# 105=
TAL KR A AR
=~ &% 105 E /- ‘&H;ﬁ% ‘?‘fvﬂ?‘;:}%&"ﬁ&

A7 105 F BER (T AR ) v AEREGFE A F

3 o9 900 4 (¢

H% 1o
™% 584 4 (¢
11.97% ) » v ¥

# 320 4 (4
6.56% ) 4 |5t
#2713 4 (4
5.60% ) > %% R
198+ (¢
4.06% ) > % &
193+ (¢
3.96% ) & i B
180 + (¢

3.69% ) 11}

18.45% ) > SF{riEp ”’3‘;? e 844 A (1} 17.31%) -
W2~ 4 ¢ #1058 L X B~ R 7

Hiw 7= Ad(h),
(A /E L)

TR 3204,
_— 11.61+r/& Lt F

Sk 1804,
6.53+ /& L g+

CA R A
gL 2734, J 900 4,
1958+ /& L g 73266&/44
TR R R ¥ 1934,

844 4,
30.634 /5% g ~

\ 95 R 198 4

% 1 g R

5T 9 584 4 T.18* /= L+ g *

21.19+ /& L+ g *

. , - + R AR I AW

W7 R (9 ).-p;?/ \ *_Eji PR
595&/443“*

8524 /& L g 4

TR kR R eI



JEF S A BEF R A B 7T1.60% 5 27 104 # AP o LR
AL e I HAERA R o (FER 2)

A% 105 & § Mg A #c 2,916 4 > fik 104 & b 29 A
(-0.98%) > 7+ = F & L g 4 v 21415 % > # 104 & > 3.67 4 > § 4
o Agmw B RE G F X F F o R 581 A (4 19.92%) - i+
forFp P % 561 4 (& 19.24%) - %~ B B {oirf g 315 4 (4
10.80%) % v %5f 293 4 (F 10.05%) > ™ gt A B T
TR = A k= £(60.01%) - &7 104 & 4pdfi > w7 8;]1(3% g’{ﬂxlz)),% P
A1 e IR BRI F o GEE 2)

249 3105 F L A RES R T
L R . I

105# 104 # 105¢2
WE f* = R Lgar L g Av 104# g
7] = A lgt ;;g‘e :% v = A ﬁfc ;;g‘é 3 t‘um ﬁi
Er ey 2,916 214.15 2,945 217.82
1 5% 25 3% 581 42.67 556 41.12 =
2 F RPN PR e 561 41.20 554 40.98 =
3 B% B SB{ciiM 315 23.13 349 25.81 =
4 v vER 293 21.52 253 18.71 =
5 sy ® 170 12.48 201 14.87 =
6 @A (FEER) B 116 8.52 125 9.25 Al
7 5 115 8.45 142 10.50 Vi1
8 LE% 110 8.08 119 8.80 =
9 ¥ &R 65 4.77 83 6.14 =
10 227 2 24" B 59 4.33 80 5.92 =
Hw 531 39.00 483 35.72

TAL KR A ARTIR
fp2r s (D105 & ¢ 9 4+ 4 #c3+1,361,663 ¢
@104% & ¢ 9 |2 4 r #341,352,012 4
@F e 7 » KRB w2 MG A EFE

A 105 &4 PR A fic 1,961 4 > i 104 # Hi4e 73 4
(3.87%) » 5= & L F A r 140.66 4 > i 104 i H 4c 3.86 £ 5 & |+
P AR E R R R F B S A F F ool 319 4 (¢ 16.27%) »
ForEp 26 R 283 A (} 14.43%) 4 15 % 273 4 (f 13.92%) % &5
E eI PR 269 4 (4 13.72%)0 14 g ¢ A Bod it L R
WP A Hc58.34% o 21 104 FE Apd 0 SF{eIFR PR R s v sk oy L A 2
Lo EHASNEAP A F AL DL (4 3)

3



%3~49¢ 31054 L L BEs-= R T
Hiz: 2 A [Lg A

105 104 & 1052
E 2 = R . S T 1§ A v 104
TEOE L 7T Gl epm
T 1 AE 1,961 14066 1,888  136.80
1 54 2§ 5fcmn 319 2288 337 2442 =
2 SRR B 283 2030 242 1753 A2
3 PR 273 1958 282 2043 W1
4 &3 BIIPR 269 1929 249 1804 W1
5 8k R 88 6.31 99 717 =
6 FEHFEIINEAPTFET R 81 5.81 73 529 Al
7 3% 78 5.59 81 587 Wi
8 i 63 4.52 49 355 A2
9 P 62 4.45 64 464 W1
10 260 2 & <~ B 47 3.37 55 399 w1
H 398 2855 357 25.87

TR KR 2 AR
fpar s (D105 & ¢ & p 4 v it 1,394,179 A
@104 & ¢ % [ 4 v $:-1,380,128 4
@F e 7 » KM mlc2 F&F Xiie & F3

Z v & 1058 18 KL X E A RFEF 14.95% » & 97 & (B AR
FH)RS 8.07 B A B 106 £ ARFRE 318 & TP R
i o MR A v PMos kR E M REE 3500 0/m F AR
27 10525 F BFaBas

AP 105 & F H s 2 F AR A B 900 4 (4 18.45%) 0 &
R F12F o R R L e B (WHO) st AL R T » Bt 5 e b
R A Fl2 - 0 55 80%m,€,‘iwjﬁlﬁuﬁg\ » &1 105 & 18 geu b o=
EABHEF 1495% > #2104 # 0 441 B A8 H P Beoa
28.77% » & 6.8 [ F A Bh & e FF K 2.33% & 0.8 BF A B o S
ABE R p OB E AR L 20 A0 A mFEA ¢ d 97 & 23.02%
T3 105 £ 1495% 0 0 807 BE 4B 105 £ > WL S
15.28%% 4 0.33 7 A B+ 106 & 3 75 fe s 31.8 =~ » FEH #- it
FOARTE MR GE A T ) PR AR R 2 fe BT e e R R 2 A
g o (G2 3)



W3- 2RE AP DA vt

—.—}_-];ﬁ]_‘l‘iij —.—iﬂ‘ﬁ.‘l’i’;’ %_\:“F'i?:@_—_ %,_:"F'i—!.u@_»_
%
45 40.25
40 36.32 35.57
35 32.27 .
30.44 80.99 28.77
30
25 23.02
19.14 19.70 19.36
17.97 17.61
20 | 9100 6 15.28
1
> 17.27 18.70 16.88 16.43 17.07 ne
10 :
5.86 415 4.03
: 3.13 299 : 3.13 2.33
97 & 100 101 = 102 # 103 & 104 = 105#

FHRKR  FAARTANER
%97 #% 104 & &% g',licxﬁ:gvl FEHIY 104 2 & p
A 110 1R 9 B 27.7% » #. 97 &> 33 B P A~ B B 11-20 12
=)
3

M & 59.1% > i“g’ 16.8 B F A Bk o w3k 21 190 g0t 13.1% >
137 BR A8 ;™I HFpspTimg 16540 7 97 &> 1.9
Wo 72 0 FHEBFATEZEETF FOE - GER4)

W4 O7& #1104 § ¥ 3 T Hop ¥ o)

% 197# ml04= M97# ml04= 12
70.0 30
59.1
60.0 -
50.0
42.3 17.4 20
40.0 155
31.0 15
30.0 211 26.8
10
20.0 131
10.0 | 5
0.0 0
1-10+2 11-2042 214217} Tiag

FH G FL RO REF-RASFFLAE

Y AT L L R CIE R R S Rt LT
ey g TP s St A R A n R PRI A ficd 100 # 5,714 £ 2K
% 1054 1§ 9,150 £ » i 4c 1§ 3,436 4 (235.14%) > B 73 % P ¥
TAREFEF k2 g3 o (K D)



W15~ 100# T 105# 4 ¢ 3 NFEISR A &

A
19,150
20,000 17,976
18,000 16,725
16,000
14,000 13,001
12,000
10,000 8182
8,000
5,714
6,000
4,000
2,000
0
100 101 102 103 104 105

TR FLARTINEN R F SR g
TEAART R B EA N PR B PMus B BH 4 v
SRR B SER - BRBF P o A7 105 & PMysik R T30
228ugmds s 2 %5 He 60 »112ug/miE i 4 7 (> 320
(g/m % (3B 5)» B 35.0ugimE A8 T F BT
ThE o PR EARE XL Lﬁ&%@aﬁﬁﬁﬁ@»ﬂxgﬁﬁﬁ
T ESRA  E PMys A 3t 54 g/m3 R ROk RS S ek iEds o & eb )
P fe g NO5 ¢ § % 1 ilidn s o kit B o (1 6)

W6~ 4 ¢ % 105% £ 1 (>PM, kR #Ei%

pg/m?3
50
40 L@ 35
30.4 32.0

30 25.6 26.4
20 I
) j I I I i I I I

0

1* 2% 31 4% 5 1" 127

FAL R IR R F



e~ A7 105# F K Flo g L@kt R 40 Hv= F 30
410 &

A 105 & F MU IR A $293 4 o LS 266 4 > F L
QL4113 B v REH AT HEERY 4
Bam A2 FRES S F o BRI P ARE BR o TR E Y
50 ez +enS o AFAETBEY LaRRE #2RFIEETH
Fos a2 ehiE Mo B P R R A KRR AR L PR BAL
TR e g RS ABTIINRI N AR R & 10 & R S
PLS AV EmAHI . a5 10 LripRLEY 0 FE 9 2 RS
ey g AT R ERF IR S - GERT)

!
~
=
!
d.
)
Gy
e
i
=

B7 > it"ﬁﬁ.{:&\"! e = PEIRL R
A m F s A (= 1R) = A (2 R) == P B (HR)
350 42.5 45

300
250
200
150
100

50

100-# 101# 102# 103# 104 = 105 &

AR ¢ e A
AR R R

B p T1EATL A5 102 #F2 g o Hgd for= A i &
Bt {2 G AR A R % JORDRER A E IR B oin
%:b&ovﬂﬁﬁﬁ“ﬁﬁ%%%4wﬁ@ﬁ%ﬁﬁ’%éﬁﬁ\
BEEFHEE CERAS NHE BRI F IR R AR
FA S REERA BN ERS PR SRR SRR L R
W2 BRie R RF L BB ERF o F R R B B ot B R
Fo BB iR s 0 B R 3 F R 2 o



